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ACADEMIC WORLD SCHOOL"

BEMETARA
Class - 111
Subject - Mathematics
SUMMER ASSIGNMENT

General Instructions:-

e Answer all the questions as instructed.

e Write in clean and neat hand writing.

e Draw the diagram where ever necessary.
e Refer cam scan pages of the text book.
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Count By Thousands

One
Thousand

Two
Thousand

Three
Thousand

Four
Thousand

Five
Thousand

Six
Thousand

Seven
Thousand

Eight
Thousand
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FORMING FOUR-PIGIT NUMBERS

1. Oral Work

§ thousands
3 3 handreds
5000 00

one | ten

(a) How many ones are there in a ten ?

(b) How many tens are there in a hundred ?

(¢} How many hundreds are there in a thousand ?
(d) How many tens are there in a thousand ?

j}l;u'nd:ti # 5 Five thousand three hundred four
5,304 (standard form)

. Look at the following: :
2 thousands +
2000
Two thousand four hundred
2400 (standard form)

DIFFERENT WAYS TO WRITE A NUMB

A four digit number, say 4,789 can be written in three ways.

.
.

1 thousand 4 hundreds | "3 ens S L
We say ‘one thousand four hundred thirty seven’. ‘ Sundad fom ! i3 ; 4,789
Expanded form 4000« 700 + 80+ §

We write:
1,437 or 1,437 -V £ Four thousand seven
3 N e hundred eighry nane

We put a comma here. A lintle space is left. This space separates the
hundreds digit and the thousands digit.

Likewise we have

";
s er
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4000

5. 1 hundred s 1
4 xh‘o‘;:‘ Kz)nds + il Zi‘,‘" TR ] 4325 (sund.ml! O‘NT’F THye
Four thousand one hundred twenty five = ;gg?;;:uoga;d th:t; éd‘,"‘w‘n twenty five (Word formy

4,125 (standard form)
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Standard form
Word form

Expanded form

i st 2 ‘(" at the hundreds place. There are no Ones
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Write the numbers represented by the blocks in all forms. 3 thousands

Standard form

Word form

Expanded form

ﬂ V.
[a]=]=] 3
ooo 1 NUMBERS ON THE ABACUS

6 thousands 4 hundreds 3 tens 7 ones

Like 3-digit numbers we can show 4-digit numbers W ‘ﬁ@
also on spike abacus consisting of four rods. Starting from 2
the left, the rods would represent thousands, hundreds,

Standard form
Word form
— tens and ones respectively.

Expanded torm
—— A few numbers are shown below on the abacus.

4 thousands
1 tens

Five thousand Five thousand
one hundred one hundred
5100 thirty

Standard form " S i ] Five thousand
5000

Word form s B

Expanded form e
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PLACE VALUE AND FACE VALUE OF NUMERALS

Numbers are made up of digits. You have already learnt in the earlier classes that the

place value of a digit depends on its position in the number, but the face value of a digit
remains unchanged.

Face value of & is ¢. Face value of 3 ic 3.

Look at the following :

37 56
The 3 in the thousands place means 3 thousands
The 7 in the thousands place means 7 hundreds
The 5 in the tens place means S tens

The 6 in the ones place means 6 ones

( 3756 )

Thus, the ‘face value’ ofanypamwhrwgtmagfnnmrdsmvﬁuddu&ﬁ :
| itself irvespective of its position in the givem numeral it is, therefore, always the same.

; The ‘place value' of any particular digit depends upon its position. in the place -“‘5 '
1chart and changes with the position of the digit

Find the place value of the digits in the numbers
a 3896 b 5028

Solution

(
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work out the following.

The difference of_the place values of two 8s in 3688.

The product of the place value of 3 in 7830 by its face value.

The quotient when the place value of 6 in 5986 is divided by

its face value.

The product of the place value of 5 in 1253 by the face value

of 9 in 9078.
COMPARING NUMBERS

Comparing numbers having different number of digits

A number containing more number of digits is bigger (greater or larger) than the 1
number having lesser number of digits. - ; b |

et WA Which is greater, 135 or 78 ? 5386 or 982

If you write these numbers on the number line, the number 78 will come
before 135. Since 78 is to the left of 135, therefore, 78 < 135 or 135 > 78. Similarly, 982
is to the left of 5386. Therefore, 982 < 5386 or 5386 > 982.

= >
T

78 s ese e R

Do you notice that 78 is a 2-digit number while 135 is a 3-digit number.

Hence 135 > 78.

Again, 982 is a 3-digit number while 5386 is a 4-digit number. Hence
5386 > 982.

Comparing numbers with the same number of digits

To Compare two 4-digits numbers, first compare the digits in thousands place. if they:
are equal, compare the digits in the hundreds place. If they are also zqual, compare Hue'
digits in the tens place. If they too are equal, compare tie digits -in the ones place.

IDCILRE Which is greater 7598 or 7589 3

Using a place value chart

Thousands

T "
same 9 tens > § tens
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SUCCESSOR ~ PREDECESSOR
Successor

The number 18 sz The number 18 is called the successor of 17.

The number that comes Just after

a particular number is called its successor.
| You can get the successor by add

g 1 to the number.

89 + 1 = 90, therefore, 90 s the successor of §9.
560 + 1 = 561, therefore, 561 is the
7653 + 1 = 7654,

Predecessor

successor of 560.
therefore, 7654 is the successor of 7653.

Predecessor Successor

The number 16 comes just before 17. The number 16 is called the predecessor of 17.

You can get the predecessor by subtracting 1 from the number-

2 Observe the numbers in the middle column. Their predecessors are given in the
first and the successors in the third column

’f The number that comes Just before a paticular number is called its predecessqr.J

"EXERCIGE — 9

0 Write the successor of each of the following numbers.

f & ( ) b 658 @ & w02 )

d 99 ( ] e 1009 £ 8999

Scanned with CamScanner
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9585756, & olac
£ ‘e S :
There are 2 numbers with digit 7 at the thousands p

- would notice thy,
Step 3 Compare the hundreds digit of these two numbers. You hat
of these two numbers

8 1 6
79 2 4
The digit 9 > 8. Therefore, 7924 > 7816

Step 4 Number 327 > 19 as there are more digits in 327 than in 19,
Thus, 032 > 8936 > 7924 5 7816 > 6015 » 327 19,

If arranged in ascending order the numbers would be written in the reverse orgey 2

19 < 327 < 6015 < 7816 < 7924 < 8936 < 9032,
Therefore, the numbers in ascending order are

D, 307, 6015, 7816, 7924, 8936, 9032 pns
In descending order the numberg would be arranged a5 under

32, 8936, 7924 7816, 6015, 327, 19
With some practice it shoy
ascending or descending order

ld be possible for you to w
without making 5 place valy

fe 2 given set of pumbere i
¢ chart,




AL RVRD FRLU TR PR S0 258 BN 515 4

ASCENDING - DESCENDING ORDER

Ascending order means increasing order, The numbers 1, 2, 5, 4, 5
ascending order,

Descending order means decreasing order, The numbers 5, 4, 3, 2,
descending order,

’

. 4
3 \ CM&Lcndhgg'

BN Write the following numbers in ascending order -
7816, 8936, 9032, 7924, 6015, 327, 19

S UTTOI Step 1 Prepare a ‘Place Value Chart' 2¢ shown below -

a By ® g
2 »

AA-'»
sl

GY-T-T-1-1-1-
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A). Multiple Choice Question

01. Which number shows seventy thousand seventy-seven.

A) 7077 b) 7770 ¢) 7007 d) 7777
02. The number ends with 6,4,2,8,0 is called Numbers.

A) even b) odd c¢) prime d) none of these
03. When we add ‘1’ to a number the sum is called the

A) predecessor b) successor  ¢) even number d) none of the above
04. Which order means arranging numbers from biggest to smallest.

A) ascending order b) descending order c¢) before number d) even number
05. The numbers end with 1,3,5,7,9 are called

A) even b) odd c) after d) none of these
06. Which order means arranging numbers from smallest to biggest.

A) descending order b) ascending order c) prime number d) none of these

07. Place value of the digit ‘8’ in 809 is

A)8 b) 80 ¢) 800 d)o
8. Odd number just after 133

A) 135 b)436 ¢)540 d)780
9. Face value of the digit 9 in 639 is

A)6 b)3 d) none of these
10. Even number just before 175

A)174 b)176 c)177 d) none of these




B). Calculation based questions

01. Write the missing numerals

2000 [T 15000 | | | ||

02. What comes just before 73907 ..............

03. What comes just after 43507?............

04. Form the largest four digit number from 6,3,5,0,17...............
05. Form the smallest five digit number from4,6,7,0,8?...............
06. Expanded form of 12376=

07. Standard form of 2000+300+20+5=

08. What will be the successor of 7345

09. What will be predecessor of 4775

10. Smallest four digit number

11. Largest three digit number

12. Numeral for 7650 will be

13. Three thousand four hundred can be written as

14. Find the even number from the box given below

34 45 79 10 78

15. Find the odd number from the box given below

13 17 12 98 11




C). High Order Thinking Skill Questions

1) Find the sum of largest 6-digit number and smallest 6-digit number.

2) Find the difference of largest 5-digit number and smallest 5-digit number.
3) By how much is 3756 less than 5433.

4) By how much 87,96,583 more 10,00,089.

D). Definition Based Questions

1) Define Successor.

2) Define Predecessor.

3) Define Expanded Form.
4) Define Place Value.

5) Define Face Value.




CHAPTER-o02

LOOKING BACK

ADDITION OF 5~-DIgiT |

B I B (" Carvy, & ]
2. Add the tens. ‘\J ecessary ||
3. Add the hundreds. e

In a cricket match between India and Pakistan, Sachin made 116 russ

while the rest of the Indian team made only 243 runs. How many runs did the
Indian team score ? :

You need to add 116 and 243.

sanned withACamScan‘ner




ADDITION OF 4-pigIT NUMBERS

ddition without Carrying

TR Add 3421 and 5263,

| Using the place value method the two numbers can be added s under

ann

/i
6
8

[Stdp 1 Add the digit at ones place. You get 4 ones,

T—— Step 2 Add the digis at tens place. You get § rens :
SHp'3) A he i o o . You g s,
Sp %) Add the s a thowsads poce. Yo g § o, |

. £




Step 1. Add the ones

Step 2. Add the tens

hundreds thousand,

A
Step 3. Add the Step 47\71(1\7}.:\.

314 6 §

+ 5 8 9 7
3 6 S

S ones + 7 ones = 15 ones
=1 ten + 5 ones

Carry 1T 1o tens place.

IT + 6T + 9T = 16T
= 1H + 6T

Carry 1H to hundreds place

1H + 4H + 8H = 13H
= 1Th + 3H

Carry 1'Th to Thousands place

Add : 3846 + 2589,
ETASTRE VoY

3
+ 2

8 4 6
& 8 9

Le

4sﬂ

Addition of More than Two Numbers

SSUCA 4 schools in a city have students as are shown in the table. How many |
students are there in all the 4 schools put together ?

Add the number of students in all the 4 schools.

-Step 4

[ The same method is
used as in Example 5.

Carrying is done memally.

School No. of studentc

Add all the digits in the ones place. E i
(7+9+2+5=230nes=20+3=2T¢3 o
Carry 2T to tens place. UE)
Add all the digits ar the tens place.
2+l¢4+l04:13!¢ns=lﬂ»37:1"’8’
5
k"
=

Carry 1H ro hundreds place.

Add all the digits at hundreds place.

141434542 = 12 hundreds = 10H + 2H = 1Th «
Carry 1Th to thousands place g
Add all the digits at thousands place. o |

1

D

There is only 1 digit which is 1. o
Thus, the sum of students of all the 4 schools is 1233, ¢ :

S —

”~




Checking Addition

tisavays a good 9 |
jou woudrarely make a mistke,Let s leam 0 check answer with
exampl,

actice 1o check vour answer. Regular pracice becomes habit apd
the help ofthe folowing

TP Add 543 and 795.

Solution 3% |
- There are two ways to @
/ (I D '

addition

® You can check addition bi
adding up. B
® You can also check additip, :
by subtracting one of th,
addends from the sum. Yy,
will get the remaining addend.

Q_/

( CLABS WORK % |
o T

Add and Check your answer :

@ 2,
1 Check \ Check ' Check |

1
’ -~ X ]
Add down : Add up Kdd dowm :Subrmu from Add down ! Subtract from
the sum 1 the sum

53791 ! T5379 7028 : 6379

+2905 4 + | 2905 + 1987 L 1589 + 2614 ’::—6379
e ) L TR [ T T T O

. e 1 a st ~ -
5’:" SEI witlrmoarnioudaiiniei
INNO T F




A)Multiple Choice Question

1. Find the missing number 3210-1002= +3210
(a) 3210 (b) 1002 (c) 3120 (d) None of these

. Find the sum 326 + 734
(a) 1060 (b) 1610 (c) 1660 (d) None of these

. Add 635+720
(a) 1355 (b) 1535 (c) 1533 (d) None of these

. One hundred more than 546 is
(a) 446 (b) 546 (c) 646 (d) None of these

. The next number in the series 105, 109, 115, 120, 125
(a) 245 (b) 210 (c) 130 (d) None of these

B) Solve the following-

() Add-

457
+23 8

Arrangeincolumnandadd - 736 +205
Find the sum of -

635

432

+162

(iv) 176 +258 +320 =

(v) Add- HTO

478
+310




Addition without carrying -
Add 3421 and 5263

Addition with carrying - Add 3468 and5897

Whatisthe sumof4373,6321and 1265?
Find the number which is 1240 more than 3267?

Theschoollibraryhas 284sciencebooksand 268social science books. Find the

total number of books.

C) Word Problems —

In a football match, the attendance on Saturday was 4397 on Sunday the
attendance was 3958 in all, how many people watched this match on

thesetwo days?

Ravindra drove 2375 kilometers in September he drove 5632 kilometers

in October. Howmany kilometers did he drive in all?

There are 2783 male member and 5398 females in a Labour union. How

many members are there altogether in the union?

There are three primary schools in a city there are 1000, 1550 and 1490

pupilsintheseschools. Howmanypupils are there in all?

Apoultry farm produces 1236, 2378, 1400 and 995 eggs in four days. How

many eggs altogether are produced in these four days?




D) High Order Thinking Skill Questions —

1. What is the standard form of 7000+500+20+5?
a) 7525
b) 7025
c) 7500

d) 7505
. Find the missing number in 8 x 9 =

a) 54

b) 43

c) 45

d) None of these
. If Rizwan sells 479 eggs in one day. How many eggs will he sell in one

week?

a) 2566

b) 3353

c) 479

d) None of these

. The product of a number and 6 is 240. Find the number.

5. A class collects seven hundred fourteen boxes. Which of the following
represents it?
a) 704
b) 714
c) 741

d) 700




